SIMPLE INTEREST
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What sum of money must be
given at simple interest for 5
years at 10% per annum in
order to earn ' 2500 interest?
V500 =09 W w4 % fau fEe
T w5 g & fow 10% = 2 9§
HHRY =S T AT B

(a) = 5000 (b) ~ 7500

(c) * 10000 (d) ~ 15000
What sum of money must be
given at simple interest for six
months at 4% per annum in
order to earn * 150 interest?
150 == W & & fau fead v
i 6 WEH ® for 4% @ <X | |y
WU S WA gm?
(a) © 5000 (b)
(c) * 10000 (d)

T 7500
* 15000

9. At what rate percent per annum

will the simple interest on a
sum of money be 2/5 of the

principal amount in 10 years ?

e o wfaea =i 52 9 fest afir
F1 10 9 F1 AHET S G H

2/5 &m?
(a) 4% (b) 6%
(c) 55% (d) 63% "’f‘«;’;

..J

A sum of money bec‘:(gfnés of

itself in 3 yeary"gt a certain
rate of mmp’wmte‘rest The

rate of inter e'g\ ;p“ler annum 1is:

¥ a&aaﬁmcﬁaﬁmw

ﬁsmﬁwﬁaﬁ = w@aﬁ%‘[
maﬁaﬁiﬁﬂml

5 5
(a) 5§% (b) 6_9-%
() 18% (d) 25%
The simple interest on a

certain sum at 5% per annum
for 3 years and 4 years differs

by * 42. The sum is

fordlt ufer W 5% =nfiis =aa =i T W
3 ot 3R 4 ol & e GRS
F 42 w @ g 98 ufer wa@e

(a) * 210 (b) * 280

(c) * 750 (d) © 840

The difference between the

simple interest received from

two different sources on * 1500 g
for 3 years is * 13.50. The
difference between their rates

of interest is :

1500 i =ufel @ 3 @i #1 § fo
TR W W A F S 13,50 B
T I 0 R T > fﬁ
(@) 0.1% (b) 0.2% ¢ T
(c) 0.3% () 0.4% /. Y

A sum of * 10,000 Lglent“pﬁ‘tly

at 8% and remamlgg at\l o per
annum. If the yearly filterest
on the avetaggm 19.2%, the two
parts are: /- ")

10,000 £ 3 T qM 8% FI
wﬁ&% I wm 10% F oW H
F fet %l A I HA 3 At
anarfaz 9.2% ¥, @ AW w2

[a] 4000, * 6000

(b) * 4500, * 5500

[c) ~ 5000, * 5000

(d) ~ 5500, * 4500

A sum of * 1600 gives a siunple

mterest of * 252 in 2 years and
3 months. The rate of interest

per annum 1is:

1600 =t st @ 2 = 3 W W
TER =S 252 ¥, = # O 2

(@) 55% (b) 8%

[c) 7% (d) 6%

The simple interest on a sum of
money 1s 4/9 of the principal and
the number of years 1s equal to

the rate percent per annum.
The rate per annum is :

g-

10.

11.
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fordr ofer =1 wemw = gerH
4/9 ¥ 4ft A T W W WS W
ffF T AN T WA BN A S
F Ehi?

(a) 5% (b) 6% %

(c) 6% (d 71 %

A sumof “y a‘;tjabmltsto 480

mn 4 ye ”"Wﬁ'gt will 1t amount

to af “thg*-'i‘ate of interest is

. mcreas%;aﬂé by 2%?

4‘00*&-“1 ufe 43 § 480 7 W 2
= F R 2% Fe & AU T4

fHgA Fan)

(a) * 484 (b) °

() ° 512

(d] None of these

560

In what time will the simple
interest be 2/35 of the principal
at 8 percent per annum ?

fead wwa d 8% = a@iff® = #
HHEOT AN qeAud & 2/5 grm?
(a) 8 years (b) 7 years
(c) 5 vears (d) 6 years
1750 is divided into

two parts such that the
interests on the first part at 8%
simple interest per annum and
that on the other part at 6%

simple interest per annum are

A sum of

equal. The interest on each

part (in rupees) is
"1750 #t ufer J sl 7 3w wwn faafsa

# S E B Ted A R 8% W T W

affs weEor e AR g WM W
6% T ST 4 Fifis o =S aE
2 9@ EE UM W S (CH) B

| 825
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14.

15.
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(a) 60 (b) 65
(c) 70 (d) 40
A sum of - 1550 was lent partly

at 5% and partly at 8% simple
interest. The total interest
* 300.
The ratio of money lent at 5% to
that at 8% 1is:

'1550 # #U *1 FZ 9 5% A
W9 8% Fi WHEWY == 3T 9§ fgAm 3
79 9% 39 300 =S % 9§ 9w
B 1 5% a1 8% W = W ufr

received after 3 years is

ST S|

(@) 5:8 (b)8:5

(©31:6 (d) 16 : 15
YEAR : 2002

What sum of money will amount
520 in Syears and to * 568
in 7 years at simple interest?
FE-H U R s | 5 ant
# 520 3R 7 =W # ‘568 @ S
(a) * 400 (b) * 120

(c) * 510 (d) * 220

* 500 was invested at 12% per
annum simple interest and
another certain sum of money
invested at 10% per annum
simple interest. If the total
interest on both the sum after
4 years 1s " 480, the latter sum
of money is :

‘500 # TH A 12% aiftw =@
T s # e g FRfm @ e &

to

o TF I AAfs 10% SifiE mee

O T A R # SR
AR 4w w < s T
F oIS 480 %, dt guh g
(&) * 450 (b).. ‘?50

(c) - 600 ¢ 550

A money endlsg{' finds that due
to fall 1 bhe:‘p_nnual rate of

%, his

interest fr'om 8% to 7

yvearly income diminishes by

* 61.50. His capital is
TF EFR H T Fo € F A
= g 8% d 7%% qiffr @

WM H IHH 9ifdE 37 H 61.50 &t
FH o W T SEHE Yol B

826 |

16.

17.

18.

19.

(a) * 22400
() 24600

A certain

(b) * 23800
(d) * 26000
sum of money

amounts to * 756 in 2 years and

i 1
to ' 873 1in 35 years at a

certain rate of simple interest.
The rate of interest per annum
is

FIE ST W ST Rt e

w @ 2w 756 e 35 a4

‘873 & WA #1 =ftw = g B

(a) 10% (b) 11%
() 12% (d) 13%

What sum will amount to * 7000

: 1 :
in 5 years at 35% simple

interest?

A

20.

f{} D

frm ofsr =1 fasem 5 a9 o
aﬁmwmmﬂ?ﬂooﬁ

oo
(c) * 6000 5000

The simple ’t't‘{erest on a
ﬁ"r 8 months at 4%

* 129 less than the

nterest on the same
r 15 months at 5% per

certain
per
simipl
fﬁ‘fé‘)-fg
;amfurn The sum is:
vﬁm”r%mw%’oaﬁa?maﬁatu
8§ WH F UERO SN SE g W
5% dAiffF =9t w9 15 " &
TR =S 129 w9 ¥ 9 s

#

(@)

(c)

2,580  (b) * 2400
* 2529 (d) * 3600
YEAR: 2003

A man took a loan from a bank
at the rate of 12% per annum
at simple interest. After 3
yvear he had to pay ° 5400 as
interest only for that period.
The principal amount borrowed
by him was:

TF HARH A UF A% § WHR A W
12% =it =7 | 01 fern 3 56 a5
31 ‘5400 Faw =N FH FI OH IH

e “*%\w&

22.

23.
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waEty & fau gFw 39 50 SUR

=it T afe ?
(a) * 2000 (b) * 10,000
(c) * 20,000 (d) * 15,000

Mohan lent some amount of
money at 9% simple interest
and an equal amount of money
at 10% simple interest each for
two years. If his total interest
was Rs. 760, what amount was
lent in each case?
Hied &3 9 il 9% WHRY &0 &€
§ a1 € F AR T F 10% FH
HHRY =16 & 4 299 & e S92
1 58 760,57 FoET 4 W R
U & nirxém\ﬁum 1 2ft:
(& ) 1*?0:0«# (b) * 1800
© 1}0‘;0 (d) * 2000

A 3 " YEAR: 2004

O
121 “wl'f the simple interest on a

certain sum of money for 15

1
months at 75% per annum

exceeds the simple interest on
the same sum for 8 months at

12% % per annum by * 32.50,
then the sum of money
(in 9 1s :

13
ﬂﬁﬁe‘tmﬁrm?a% iffw 57
T 15 W9 ® WHET AN SH S

L 12 o aff = § 8 wig &
e = 9§ 32,50 =E 2 9|
gt (¢ H) @t

(a) 312 (b) 312.50

() 3120 (d) 3120.50
The simple interest on * 7,300
from 11 May, 1987 to 10

September, 1987 (both days
included) at 5% per annum is
7,300 T 5% aiftF =< L H 11
#g, 1987 ¥ 10 fao=r, 1987 %
(i fem wfwfea) =1 wWemo ==
e grm?

(@) - 123 (b) * 103
(c) * 200 (d) * 223
A person borrows * 5,000 for 2

vears at 4% per annum simple
interest. He immediately lends it
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24.

25.

26.

27.
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to another person at 6 % per

armum simple interest for 2 years.
His gain in this transaction is:

TF AEH 5,000, 299 & foOw 4%
Afife WY = & S W IER wal
2 9% b 3 S @ AR #

—%aﬁmwmmﬁﬂv{Q

ad F fou 3un 2 3@ %) oTw AR |
SUFHFT TAH B

(@) 11250 (b) * 450

(c) * 225 (d) * 150

sum of money
becomes three times of itself in
20 years at simple interest. In
how many years does it become
double of itself at the same rate
of simple interest?

FiE AT HEROT S R W § 20
78 § @ F1 3 T e Wt g1 R
o H IEHT WER AN B W " w
w2 T B o 87

(b) 10 years

(d) 14 years

A person borrows some money

for 5 years and ratio of loan
amount : total interest amount

i1s 5 : 2. Then find the ratio of
loan amount : interest rate is

A certain

(a) 8 years

(c) 12 years

equal to:
TF e FE 9AUen 5 A % fou

28.

29.

g

r\.\w.o’

=T FH YR AEF R, FAdEiEE

FIYN T 3T 6% a1fdaF &1 FHfwd g1

¥ Ha @it 2, 2

(a) 6.06% (b) 6.07%

(c) 6.08% (d) 6.09%
YEAR: 2005

If the simple interest for 6

yvears be equal to 30% of the

principal, it will be equal to the

principal after

4fg 6 o1 w1 WHRY e q@ud ®

30% & R §, 99 S SR oAU

o g 915 I Eh

(b) 30 years

(d) 22 years

A person invests money in

three different schemes for 6

yvears, 10 years and 12 years

at 10%, 12% and 15% simple

interest respectively. At the

completion of each scheme, he

gets the same interest.

ratio of his investment is

% afam diFb gt &= 6

a9 7 123‘&3{1312*3?@1 «w%,
12% 9 15% & Fe w T
m%amﬁﬁnwﬁ?ﬁ“’wﬁ
Mmewmmél

Al ﬁﬁmw F1 U
il D

;ajgﬁ'"a)“é" b)2:3:4
LE}*S‘&..A 6 (d)3:4:2
YEAR: 2006

(a) 20 years
(c) 10 years

SUR oA € 3R HerH |9 el oA L 3ﬁ "” 1,000 is invested at 5% per

FEE 5 : 2 7 A gerE F oA w
FIIE Hd FHifag) ny -

@2 :25 ) 40
(€) 5 : 2 [da’f;s" 2
If - 64 am%}g 20 in 2
years what 36 amount to
in 4 yeﬁ\at\ e same rate
percent p;xgmfluln?

afz 64, 2 &ot ¥ '83.20 T W &
d IE =T # " 86, 4 gl H
A &m?

(a] '132.50  (b)
(c) * 137.60

(d) None of these

The effective annual rate of
interest, corresponding to a
nominal rate of 6% per annum
payable half yearly is:

135.60

31

annum su’nple interest. If the
interest 1s added to the
principal after every 10 years,
the amount will become
2,000 after

1,000 =t wfer 5% arfds e
S # W ¥ fEw & oe § oAk
T 10 39 a| = HwWOqau |
sirg fear s @@ 2,000 #1 fAge
fha w9 9% W emm?

(a) 15 years (b) 18 years

(c) 20 years (d) 16% years

A person deposited * 400 for 2
yvears, - 550 for 4 years and
* 1,200 for 6 years. He

received the total simple

Tho/?

‘i"\, Mé

32.

33

34.
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interest of * 1,020. The rate

of interest per annum is

wF AEH 7 400, 2 g6 & fawu,
550, 4 = = faw @wr '1,200, 6
79 % fau sw fFu 39 Ha MR
=6 1,020 W g Al arfde s
F = B
(@) 10% (b) 5%

(d) 20%

Manoj deposited -~ 29400 for 6
years at sim &, interest. He
got "~ 42 Jg@f erest after 6
vears. ﬁ:’#ﬁ"% annual rate of
1nt,ere§’t‘xwﬁs :

mjibgwo 6 % F fam ammo

w9 few 6 a9 =g s@
200 =419 I g3 At s w
=T 4t

(c) 15%

8 7
@) 257% (b) 255 %

8 8
) 35;% (d) 457 %

* 6,000 becomes * 7,200 in 4
years. If the rate becomes 1.5
times of itself, the amount of
the same principal in 5 years
will be

6,000 =+t Ty 4 =9t ¥ 7,200 =
St &1 At = oW w=E @ 1.5
T e S § ad S9 i w5 ad
ae fageA F gm?

(a) * 8,000 (b) ~ 8,250
(€ *9,250  (d) * 9,000
Simple interest on * 500 for 4

years at 6.25% per annum 1is
equal to the simple interest on
* 400 at 5% per annum for a
certain period of time. The
period of time 1s :

‘500 T 4 99 F1 6.25% aftiw W F
HHEEO s 41 400 # fHH
wyarEfy % few 5% anftfes g 9 qEmo
= e g wEEEiy

(a) 4 years (b) 5 years
(c) 6 iyears (d) Sg years
|| 827
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36.

37.

38.
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A borrows * 800 at the rate of
12% per annum simple interest
and B borrows * 910 at the rate
of 10% per annum, simple
interest. In how many years will
their amounts of debt be equal?
A 800, 12% =t Trmo =re Fi
W IU o g, a9 B 910,10%
M GERT =0 T ST H SUE O 2
e = 5F STF FS SUE B SO
(b) 20 vyears

(d) 24 years

With a given rate of simple
interest, the ratio of principal
and amount for a certain period
of time 1s 4 : 5. After 3 years,
with the same rate of interest,
the ratio of the principal and

amount becomes 5 : 7. The
rate of interest is :

U O B 7 O s el
forelt Tamafy & faw gasm qun fagea
4:5% U ¥ 21 3 99 % Sa 3
= Ft T H YU F AT W oram
5:7 € S &1 SN g e
(a) 4% (b) 6%

(c) 5% (d) 7%

A person lends 40% of his sum
of money at 15% per annum,
50% of rest at 10% per annum
and the rest at 18% per annum
rate of interest. What would be
the annual rate of interest, if
the interest is calculated on
the whole sum?

TF oMEH A9 HAafE w3 40% 9
15% =it =1 8T 9, 99 %1 50

(a) 18 years
(c) 22 years

S 10%Hﬁ$a?ﬁammm)

18% =1 T ¥ 3UR W =14

S

P s 7, @
= & Al g

(@) 13.4% 14.33%

(c) 144%, '\ @11313.33%
Rames o,saéted 15600 in
a fixed di 051t at the rate of
10% per annum simple
interest. After every second
year, he adds his interest

earnings to the principal. The
interest at the end of fourth
year is

Y ¥ '15,600 FrHwen = #51 10%
Fiffer 3T O TF WEH @H W S
U AN W gE A &l 98 9fd g

828 |

30.

40.

5

"““a’f’ts such that the simple
L Cdnterest on the first part for 3

?‘.._

42.

o TereE | fren < @1 SEw A9 ad
* 3d H e e sAs # Bm?

(a) " 1716  (b) * 1560
() * 3744 () - 1872
What equal installment of

annual payment will dis-charge
a debt which is due as * 848 at
the end of 4 years at 4% per
annum simple interest?

848 &I yAUfd F1 4% At wreEmoy
oI H W " 499 F sq q9F GEA
B A IR W g T YA S
aiffw e =mma

(a) * 212 (b) * 200
(c) ~ 250 (d) ~ 225
YEAR : 2007

A sum of money at a certain rate
per annum of simple interest

doubles in the 5 years and at a

different rate becomes three tunegf ¢

in 12 years. The lower raf pj
interest per annum 1is

ﬁémﬁmmmﬁﬁﬂﬁf

wH S5 F g A %az@m

AT H 1299 | &

FH A F A, ﬁ‘gw%?

@) 15% A )™ (b) 20%
'\-J

J
o ;ﬁ?gw
Lf” 'bf 000 1s divided into two

(d) 16—

years at 12% per annum is
equal to the simple interest on

the second part for 4% years
at 16% per annum, the greater
part 18

afg '12,000 # sFafer w1 U®
art ® sfer Sme, @ifd Tee WM & 3
4 &1 12% =i 2§ QHR =
TR A F 4 a B 16% AME
T W WUET TS A= 6, q S8r
qnr F Em?

(a) * 8,000 (b) * 6,000

() * 7,000 (d) * 7,500
Out of * 50,000, that a rnlan
has, he lends * 8000 at S5 %

per annum simple interest

44.

45.
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and ° 24,000 at 6% per annum
He lends the

remaining money at a certain

simple interest.

rate of interest so that he gets
total
* 3680. The rate of interest
at which the
remaining money is lent, is:
TF R @9 50,000 ¥ ¥ °8,000
T =T 5%% oiftw |
6% =1t = | IN

annual interest of

per annum,

dem 24,000,

(b) 7%
*&g; 10% (d) 12%
YEAR: 2008

‘”"}43 The simple interest on a sum

of money is 2 of the principal

4

and the number of years 1s equal
to rate percent annum. The rate
percent is:

et sofer W Mo = e #3
%%‘ﬂ qgq1 =6 H e R AME ==
I TR T A S q A

(a) 2.5% (b) 5%

() 7.5% (d) 10%
Equal sum of money are lent to
Xand Y at 7.5% per annum for
a period of 4 years and 5 years
respectively. If the difference
in interest, paid by them was
* 150, the sum lent to each was
X & Y # 7.5% =iftfw = ww @
I 4 =4 qur 5 ad & faw auEy
ufer SR & 9t 1 AR ST g
THT T AN FH A 150
Yo% I < T eeat @@ 87

(@) * 500 (b) * 1000

(c) * 2000 (d) * 3000

A sum was invested on simple
interest at a certain rate for 2
years. Had it been put at 3% higher
rate, it would have fetched - 72
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47.

48.

49.
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more. The sum is :

5 AT WURoT = 1 foR aifte
wd 29d % fon FRAfm %1 o 2
afe == &0 3% =@ @ W Al =
72 W% | g1 dl HAatn s

(a) = 1,200 (b) ~ 1,500 (a) 0.10% (b) 0.25%
(¢) * 1,600  (d) * 1,800 (c) 0.50% (d) 1.00%
YEAR : 2009 50. A sulm .of money was l.ent at
simple interest at certain rate
A lent * 5000 to B for 2 years for 3 years. Had it been lent at
and * 3000 to C for 4 years on 2.5% per annum higher rate, it
simple interest at the same would have fetched * 540 more. 54
rate of interest and received The money lent was: )
* 2200 in all from both as FE yFaln wamw =e # R e
interest. T.he rate of interest R 394 % fau suR § W oAk =
BRE SRR 2.5% aff® sify®d T W IUR e
A7 B# 5000, 2 79 % feu qan C T AT A 540 s = e e
ﬁ'SOOO,tLaﬁa‘:hqwmm T9T S TR g odt?
gl H Fa 2200 9 | i
. N i LY (c) * 6840 (d) * 7200 f;
=TS R S 3T AT s X * th ;
i sum of money was 1nvgs d J
(8) 73 (b) 5% at a certain rate of si *plw
1 interest for 2 years.
() 7% (d) 10% been invested a)é% h‘i.g
What annual installment will rate, it would ha Nfe} ed -
discharge a debt of * 6450 due 24 more interest. \']:he sum of
in 4 years at 5% simple interest HIGHEY "6 ﬂ_} 55.
' 6450 & EF FH 5% WIHWUT AT i ey S e W e
# AE w A 4 e A 2 el T B
; ﬁ-&ﬁf
N W B g GA® [wea é’}su;lmnmﬁmm
it et S @”@ﬁwb4sﬂ‘mmﬁam%|
Pt S
(@) - 1500 (b) - 1835 Crh
~ Ma) * 1200 (b) - 1050
() * 1935 (d) * 1950 -+
~ .7 [c) ~ 1000 (d) - 9600
In how many years will he . . .
simple interest on a 'Ffi\o”fj 52. A man invests half of his capital
money be equal to th pt];lclpal at the rate of 10% per annum,
i one-third at 9% and the rest at
st the rate o '16-—2 % per 12% per annum. The average
%-%} 3 rate of interest per annum,
annum? } which he gets 1s:
’mﬂaﬁ‘i‘%ﬁ%’% A # R A el 3 el §0 w5 am 10%
et &MU = WERT S a9 gerEA . 56.
SR WA mmmw,éwg%w
(a) 4 years (b) 5 years 9 12% R fafm b sa e
(c) 6 years (d) 8 years W S e s g w87
The difference between the (a) 9% (b) 10%
simple interest received from (c) 10.5% (d) 12%
two different banks on * 500 for YEAR : 2010
2 years 1s * 2.50. The difference 5. * B0 BEGHEES~ 9568 yass

between their (per annum) rate

of interest 1s :

3 fafg=r =t 9 500 W 2 3¢ § gy
TE A HEREO AT w s 2.50
Z TH = F oaffE = @ s
w1 Em?
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at a certain rate of simple
interest. If the rate of interest
increased by 4%, what
amount will * 800 become n 3

18

years ?

‘800 1 TRT WHRY s F fR
W 3 A ¥ 056 ¥ wW T AR
=T & 4% W& < @e a1 800 # 4
Tofer #1 334 H fagea w0 e
(a) * 1020.80 (b) * 1025

(c) * 1052 (d) * 1050

In a certain tirx}e, the ratio of
a certainﬁncipal and
interest olbt 1ed/ from it are in
the rati (i:; 3 at 10% interest
pegy aﬁ‘igfﬂzl The number of

rwyears for which the money was

ted is

% aftier = 1 & | fEdt ffvem
qug % =15 0% s germ @ik wmen
=1 &l S 10 @ 3 @n fEm fae
vH i erEfy feay ad o2

(a) 1 years (b) 3 years

(c) 5 years (d) 7 years

John

money at an annual simple
At the

end of four years the amount

invested a sum of

interest rate of 10%.

interest
The

invested plus
770,
amount invested was:
ST A U gAt o 10% =it |
T = F S o e e e=m e
a1 o e, = wfed 770 @ S €,
TR F8 uf e oft?

earned was

(a) * 650 (b) * 350
(c) * 550 (d) * 500
YEAR: 2011

* 1860
amount to 2,641.20 at simple
interest 12% per annum ?

‘1860, 12% wid a4 % HERor =
™ fFe 999 ¥ '2,641.20 & Sty

In what time will

(a) 3 years (b) 3% years
(c) 4 years (d) 4% years
| 820
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60.

61.
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The population of a village
decreases at the rate of 20%
per annum. If its population 2
years ago was 10,000, the
present population is :

UF Tig = FaEEn 20% 9iftE 1 I
q et &1 4% 2 5 o g % S
10,000 off, @i #1a8 F0 F0?

(a) 4600 (b) 6400

(c) 7600 (d) 6000

The rate of interest per annum
at which the total simple
interest of a certain capital for
1 year 1s equal to the total
simple interest of the same
capital at the rate of 5% per
annum for 2 years 1s :

fordt affs =aer st w faedt T #1 1
T4 T HHE =, 5% 9ifiE = 9T
I T # 2 F F WER AN #
TR B A S FoafE 52w et
(@) 2% (b)10%

(c) 25% (d)12.5%

Ratio of the principal and the
amount after 1 year is 10 : 12.
Then the rate of interest per
annum 1s:

& T4 9% TR germ gon fagsa =

A 10 : 12 31 79 =iffs = <0
= Bhit?

(8) 12% (b) 16%

(c) 18% (d) 20%

* 12000 is divided mto two parts
such that the simple intere

on the first part for 3 year
12% per annum may b eqz\i

to the simple interes go +the

second part for 4 yegis at 16%
per anmnum. Mhﬁ of the first
part to the second part is:

112,000 ,agwﬁ'l = @ amm
@ AR M e S 2, FR
weE 9 W 12% aifdE 3§ 3 =
T WYAOT SATE gEL 9T F 16%

N 1 N
mﬁmﬁﬁ4§aﬁa§mtﬁmm

F U €1 Al UEE d1 gHl WM H

ERRIC LI

(@2:1(b)1:2(c)2:3(d)3:2
A person who pays income tax
at the rate of 4 paise per

830 |

62.

63.

:‘“

.

rupee, find that a fall of

interest rate (Income Tax) from

4% to 3.75% diminishes his
net yearly income by -~ 48.
What is his capital ?

S 4 THAT F S W ST
A FAA | TR ATF W 4% F
e 3.75% T W qE U ¥ R
3IFH Fe AfF FE 48 FH B S
B @ wad ST Pet R €2

(a) * 24,000 (b) * 25,000

(c) * 20,000 (d) * 18,000
Arun lends * 20,000 to two of
his friends.He gives * 12,000
to the first at 8% p.a. simple
interest. Arun wants to make
a profit of 10% on the whole.
The simple interest rate at
which he should lend the

remaining sum of money to
the second friend is :

64.

[0172% [d]s-;-%

If a man receives on one-fourth
of his capital 3% interest, on
two third 5% and on the
remaining 11%, the percentage
he receives on the whole is :

Aft ©F smeHt A it goft 5 qr

win g

TR0 =S F 3% FT W, [

5% iR T W

LIt

11% %1 = | wrw

F E IR EW W F W Her uf

T SN T ET

(@) 4. 5%{} b) 5%

[c]SM ‘) 5.2%
\‘EAR 2012

65r Théwéurn lent at 5% per annum

39 20,000 7 T AW Fi 3;41'@{;%

W ¥ 9 TS W H 12
8% aftfa Ry =1 Fi

1 s AT HE TR 10%
TR ¥ oW IW W ﬁf‘w T W
# fr Fer = ﬁﬁr}*ﬁ wifew
(a) 8% aé\_}' ) 16%

(c) 12% '""‘;J' (d) 13%

A pﬁ?ﬁ}l * 12,000 as

) invests

tiﬁepotnt at a bank at the
fi@ ﬁ of 10% per annum simple
@ntcrest But due to some
pressing needs he has to
withdraw the entire money
after 3 years, for which the
bank allowed him a lower rate
of interest. If he gets * 3320
less than what he would have
got at the end of 5 years, the
rate of interest allowed by the
bank 1s :

THF OEM TF §% § 10% =fE T
RO =1 it g2 9 12,000 & @i
F 5 Fw & dfed 3 = 9 9% e
e @ o g ol §F 9 fe
w1 & foed % w9 e o YEH e
#oafz aw SEd # 4 H foew Awd
T | 3320 FH WE w4 €, ar
4% 30 & 9W awt = 3 a9

5 4
@) 75 % (b) 75 %

Yol »Jé
oR)

66.

67.
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\J’ye 365 days) simple interest,

that produces interest, of * 2.00
per day, is

fordt wafe w1 5% aff® (365 f&)
YR S F S Y IuR R s
g, fogd 38 @& & ®9 § 2.00
ufafe ora g1 &1 Oty =)

(a) * 1,400  (b) * 14,700

(c) * 14,600 (d) * 7,300

If a sum of money amounts to
* 12, 900 and * 14, 250 at the
end of 4th year and 5th year
respectively at a certain rate of
simple interest, then the rate

of interest 1s

FHE R WERO SN & W " 4
Fd a1 5 9 & ofa ® FAen: '12,900
it *14,250 & Wt 81 =40 5T 9a)
(a) 10% (b) 12%

(c) 18% (d) 20%

A person deposited - 500 for 4
years and * 600 for 3 years at
the same rate of simple
interest in a bank. Altogether
he received - 190 as interest.
The rate of simple interest per
annum was :

TF AEH TF dF § GHE wEwo
=I5 # " 4 9d & fag 500 3R
3 =d # fag 600 s =@ &1 AA
W FHel A 190 e Bl g1 =
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FI aifts < =)

(a) 4% (b) 5%

(c) 2% (d) 3%

The simple interest on * 4,000

in 3 years at the rate of X% per
annum equals the simple
* 5,000 at the rate

of 12% per annum in 2 years.
The value of x is:

4,000 =t T W x% F W H 3
TYl T WEROT &re, 5,000 ® iy
W 12% H T W 2 Gul & wEwm
= ® aat 81 x F HE Fam)
(a) 10% (b) 6%

(c) 8% (d) 9%

If x, y, 2, are three sum of money
such that y is the simple interest
on X and z is the simple interest
on y for the same time and at
the same rate of interest, then
what is the relation between X,
v, z we have:

= e x, y, 2, WoUER §1 fF oy,
X F WERO S A1 2,y F HH
=9 2 = e ffaa § afz @
q aiff T 9AE B Al X, Yy, 99T 2
T F R

interest on

(a) x® = xy (b) xyz=1
(c) x* = yz (d) y* = 2x
A sum of * 2,400 amounts to

* 3,264 in 4 years at a certain
rate of simple interest. If the
rate of interest is increased by
1% the same sum in the same
timme would amount to

ﬁ?%ﬂﬂﬁﬁﬁ@mﬁmmaﬁﬁfﬁ‘
474 4 2400 ¥ 3264 'ggﬁiﬁﬁﬁ
afe = 1% 7@ @ s
9 | T8t &9 R 'sﬁqm?

(a) - 3,288 -3 312

(0 " 3,340  ‘yd). " 3,360

Nitin boffrow dr'some money at
the rate of 6% p.a. for the first
three years, 9% p.a. for the next
five years and 13% p.a. for the
period bevond eight years. If
the total interest paid by him
at the end of eleven years is
* 8,160, the money borrowed by
him (in
faf 3 %5 wuf w=d 3 9 6%
i = =X, 3 5 99 9% At

Y ) was

(£

73.

74.

C

%,

75.

aq 8 9 & F] 13% Aftid =9 X
IR el afg 1199 % A9 § 99 o
=17 °8,160 T FW g §, @ 39
e oafe ) wan

(a) 12,000 (b) 6,000

(c) 8,000 (d) 10,000

Two equal sum were lent out
at 7% and 5% S.I respectively.
The interest earned on the two
loans add up to * 960 for 4
years. The total sum lent out is
% wmeR uler wEA: 7% AR 5% ®
HEW =S W3R S M SE RO
R afela =99 4 98 § 960 q=d &
YR €] T A Al s@Y)

(@) - 3500 (b) * 2500

() * 2000 (d) - 3000

YEAR : 2013

In what time will * 8000, at 3%
per annum, produce the same

interest as * 6000 does in'

= g1 W 6,000 F1 % I, S

BOOOE}”rTFﬁTﬂ'(S g’@??ﬁﬁﬁ

R & g9 |

a) S yearsy ﬂﬂ 6 years

() 3 ye?ﬂ?\_’\; “(d) 4 years

A Wﬂ?w\w 800 amounts to
Qﬁ\O ‘rf? 3 years at the simple

Jest rate. If the the rate is
f}ncreased by 3% p.a. , what will
“be the sum amount to in the
same period?

FE AR WHRT &N & & § 3
a8 § ‘800 ¥ ‘920 # =it 1 Afy
=TS 3% @1 & W, d THE Sfafy
¥ ag ufy feadt € s

(a) * 992 (b) * 962

(c) * 942 (d) * 982

Ram deposited a certain sum
of money in a company at 12%
per annum simple interest for
4 years and deposited equal
amount in fixed deposit in a
bank for 5 years at 15% per
annum simple interest. If the
difference in the interest from
* 1350 then the

sum deposited in each case is:

two sources 1s

76.

™ T FwE T ffm afr 4ed &
el 12% = 0 W WHER0 =99 W3R
ST Fiaw s
ferw 15% =i @ m=fy 5= (Fixed
Deposit) ¥ a1 % 1 afE A =i
F1 s 1350 €, o v feafd d
fopad =1 fepw w9
(a) * 3000 (b)
(c) * 6500 (d)

A sum of money lent out at

* 4000
* 5000

simple interest amounts to °

720 after 2 yegrs and * 1020

ICLiXal

@Tﬂﬁﬁ?}if}?xﬁn fosee © 720 ®
aﬁyq&WSaqa?maﬁ'{m
ﬁma@‘% & @@ * 1020 fasm

”“3?@[3%131'«11 2, @ gorm T w

,)

years at 4% simple inter ;gl?ﬂ )77
foam =m=s 5 =d o 4% =t @;g';"l

T8

79.
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q,ai 6000 (b) * 600
(c) * 1740 (d) * 120
A and B borrowed * 2,000 and *

3,000 respectively at the same

1
rate of interest for 2-2-

B paid * 125 more interest than
A, find the rate of interest.

A g B 3 wA9: * 2000 @2t 3000

years. If

TF g P T W Qé = % forl 4

fem 9fis B5 A9 125 stfas =m0
=1 aE w7 @, = S e | Hi2
(a) 7% (b) 8%
(c) 6% (d) 5%

The simple interest on a sum

8
of money is —— of the sum. If

25
the number of years 1is

numerically half the rate
percent per annum, then the
rate percent per annum is

TF S T W0 @ 39 i
o & af w6 wen v

=T FI gfqema ¥ Heaens 9 9 a1t
2, @t ufaq oo =1 =W 27
(& 5 (b) 4

Ea|

(©) 65 (8

A sum of* 7,930 1s divided into
3 parts and given at loan at 5%

Iam
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simple interest to A, B and C
for 2, 3 and 4 years
respectively. If the amounts of
all three are equal after their
respective periods of loan, then
the A received a loan of
*7,930 =t ufer 3 Wi § fawfsa w
St § 2t A, BuE C &1 W 2, 3
w4 T F fau 5% & HERT =S
T E R w9 H F S @ afk g g
R WA B fsem ave fe @ A A
foret ®wuw =1 B0 foran en?

(a) * 2,800 (b) * 3,050

(c)* 2,750  (d) * 2,760

The principal which gives * 1
interest per day at a rate of 5%
simple interest per annum is
98 Hel U Fary e W 5% ufaad
FI WERM =S 5 W oAt 1
=11 fiet|

(a) * 5000 (b) * 35500

(c) * 7300 (d) * 3650
Arvind deposited a sum of money
with a bank on 15 Janaury, 2012
at 8% simple interest per
annum.He received an amount
3,144 on 7th August, 2012. The
money he deposited with the
bank was

aferR 3w w1 sEed, 2012
Fi 4% § 8% Mt WA = F G
o fEm =1, 39 3,144 =t swfn 7
3, 2012 1 % 9 Wa gl 3T
ot smfy S 4§ e w5 o

(a) * 3,080 (b) * 2,500

(c) * 3,000 (d)
A man buys a TV pri ed\
16000. He pays 400 t ‘Bhce
and the rest after 1 \}}aon‘tha on
which he is charges'a simple
interest at the/fate-of 12% per
year. The total\ajffount he pays
for the

uF =Af 1"6606 *I HHa Al Tk
@A, wlea #1 9% 4000 T ? I
2 dr 9w 15 WA B A 3w €
R IHE 12% wfaad F T F "emo
o1 femn s g1 e St & forg wme
ot Of¥r 11 Far &7

(a) * 18,200  (b) * 17,200

(c) * 17,800 (d) * 16,800

Mr. Dutta desired to deposit his
retirement benefit of '3 lacs
partly to a post office and partly

832 |

* 3,100 N\~

84.

r\ic}ﬁ 150000

to a bank at 10% and 6% simple
interests respectively. If his
monthly interest income was
2000, then the difference of

his deposits in the post office
and in the bank was:

flgw o 3 @@ ¥ & wa frefa
Y w9 ek U H i sy S
F wue: 10% AR 6% F =S W S
T A 91 A SR WGH A S
2000 & o TEW R FF H A
s afen o e sfaw en?

(a) *1,00,000 (b)"* 40,000

(c) * 50,000 (d) * Nil/¥=

A boy aged 12 years is left with
'100,000 which 1s under a
trust. The trustees invest the
money at 6% per annum and
pay the minor boy a sum of
2500, for his pocket money at

the end of each year. The
expenses of trust come out to

T

88.

be 500 per annum. Find thqy’;"

amount that will be ha d%td )
over to the minor boy af}jﬁ.v

attains the age of 18 yedts

2 aﬁaﬁ@aﬁ#ﬁ-{iﬁ%ﬂ:ﬁnm
100,000 B W@ g At

6%91%[aﬂmﬁém=ﬁé@§ ST
e F W e ot o & i o
2500 T * J# =4 500, ¥
T I & o oie® 18 A H
emg*’?ﬁ“ﬁ wfe didt sz
(e \1,@5000 (b) * 118000
(d) * 120000

Eﬁ% (The simple interest on * 36,000

3
o

86.

for the period from 5% Janua.ry
to 31 May, 2013 at 9.5% per
annum is

" 36,000 qai¥d T, 9.5% aift® =
F W W 5wl ¥ 31 wE, 2013 7
F1 HHER S F B2

(a) * 1,368 (b) * 1,338

(c) * 1,425 (d) * 1,400

The rate of simple interest per
annum of bank being decreased
from 5% to 3.5%, the annual
income of a person from interest

was less by ' 105. The sum
deposited at the bank was

g TRt S 1 wfd 99 WERe =
F T 5% W 3.5% 2 S & oA
=fe Ft aiffs 21 ° 105 %9 8 st
% @ =amd fF &% § e Tow w oy
T FEE M ot

89.

90.
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(a) * 7,000 (b) * 6,000

(c) * 7,200 (d) * 6,800
Tushar borrowed a sum of *
12,000 at 15% per annum from a
money-lender on 13th January,
1987 and return the amount on
8th June, 1987 to clear his debt.
Then the amount paid by Tushar
to the money-lender to clear his
debt was.

qUE H 13 SHed, 1987 &1 TREr wersH
| 15% W =4 9 012,000 F ufE S9
R &l AR a7 w0 qEE # fag 8
54, 1987 F @€ ¥ A de @
TUR BHT TG R % foTT e
£a ﬁwﬁ \w}ﬁ S

(a) (b) * 11,394
(c] 12»\'2:20 (d) * 13,650
A €m

s. x was put at simple

L%a\fgﬁ at a certain rate for 2
Had it been put at 3%

\wbl’gher rate, it would have fetched

Rs. 300 more. The value of 4x is.
Y x# e 2w & faw uw ffve
W HHE A W T A a8 3%
sfye < R T S, @ =98 300 sy
& B S 4x H ged F )

(a) * 24,000 (b) * 20,000

(c) * 16,000 (d) * 36,000

The simple interest on a sum
of money for 3 years is * 240
and the compound interest on
the same sum, at the same
rate for 2 years 1s * 170. The
rate of interest is:

ferdt w7 wfer . 3 99 1 WEEOT A
240 % 3R 3 vy W2 3 @

T R THIE =W 170 1 ==
FI I N E?
1 5
(a) 125% (b) Sﬁ%
.|
(c) 8% (d) 295%

sum of money
amount to =~ 2200 at 5%
interest, * 2320 at 8% interest
in the same period of time. The
period of time is:

TF B wegEty § wiE s 5% %
= W 2200 #HR 8% H W W
* 2320 & Wt ¥ wwEEty g 87

A certain

(a) 2 years (b) 4 years

(c) S years (d) 3 years
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For 2 years, a sum was put at
SI at a certain rate. If the rate
was 3 % higher, it would have
fetched * 300 more. What will
be the sum?

=t el % fow, fadt a7 = mem =
W Afifa W @ T oAl
X 3% zafew TR a1 300 aafysw e
gl o7 fwam oz

(a) 5000 (b) 4800

(e) 2500 (d) 4484

A money lender claims to lend
money at the rate of 10% per
annum simple interest.
However, he takes the interest
in advance when he lends a
sum for one year, At what
interest rate does he lend the
money actully?

TF HWEHR 10 gfaye gfaed S
= F g7 W 6 IUR 4ET B1 ETeltE,
Aft 92 uF 9 F fou o7 TyR W 2,
d =T ST ¥ 9 o @) ared ¥ 9%
fFA =S 5 W HA IUR 34 22

1
(a) 10% (b) 105 %

1
(c) 11% (@115 %

A certain sum doubles in 7
years at simple interest. The
same sum under the same
interest rate will become 4
times in how many years.

WYROT =e 2 9w e 7 oad o
Wﬁﬁrm“T%mﬁmaﬁm

T W R aul § W) @ @rr&?%
(a) 14 (-1 ——
(c)21 (d) 10 =

On a certain sum £ éu’nple

o

sy . 3
) ngear is A of
the sumse Tﬁeﬁ\,the rate of
interes

interest for 12

AT
Wﬁﬁﬂﬁ?ﬁﬂt 1212 ELil-n
mmm,sﬂrﬁm%%m
T ST F1T Hifau?

(b} 6% per yr
(d) 8% per yr

A. man bOrrOWS some amount
at the rate of 12% per annum
at simple interest. After 6
yvears 8 months, he paid * 720

(a) 5% per yr
(c) 7% per yr

96.

a7.

98.

as an interest. Find the
amount borrowed by him.

T AEH! FrEEeT =re 7 12% 9 99
H Y FD U IUR o 81 6 9 8

HEM & A% 399 = h w1 H - 720
w1 A T 39E R YR ot W
Tlﬁ'l ST ?Ftl 100.
(a) * 900 (b) * 960
(c) ~ 920 (d) * 1620
The discount on a certain sum
of money, due at the end of
1 2
2— 2—% p.a. is * 78.
g years at 3/pa 18" 78
Find the sum.
1 \
feorelt favm ufyr w2 - & = 9,
5 101.
2? affs s 4 g2 78 %, @ 2
o
Tfer Fr # (@) * 1,278 0O
(b) * 1,300 1.\
)
() * 1,378 (d) 1,400 A
If the simple interest o YT ’”’;
for 1 month is 1 paisa, the

rate percent per anPum W‘li} be

% - 1| 19E w S 1
T, o o o “f&#ﬁ] BI?
(a) 10% Z"[.b}ﬁ%
(c)12% A~ )(d) 6%
A mone){i;}ﬁfer lends * 400 for
3 yﬁgﬁ;’to a person and lends

fﬁdﬁ)for 4 years to the other

r'\f)exébn at the same rate of simple

tc\:ef:":j’t“lterest. If altogether he receives

99.

* 160 as in-terest, what is the
rate of interest per annum

T WEEHR UF aAfa w1 0 400, 3
T4 & fau qen wF dA AR H
* 500, 4 94 & A0 WERO =S F
TF f |/ IR ;M B AR H
THeTT 39 160 %1 =09 W &, a7
it =TS T ST N B2

(a) 5% (b) 7%

(c) 9% (d) 10%

The simple interest on a

certain sum of money at the
rate of 5% per anuum for 8
years 1s * 840. Rate of interest
for which the same amount of
interest can be received on the
same sum after 5 years is

TRt ofer W 5% =nfifsr g1 9 8 94

102.

103.
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=1 WHO oS 0 840 %1 599w 36t
Lo B e | e O M e A i
= ST TR et

(a) 7% (b) 8%

(c) 9% (d) 10%

For what sum will the simple

interest at R% for 2 years will
be R?

frat ufr @ 2 & F R% aifi=s
=TS F1 T W HIYWO AT R BO7

100
@ S5 (b) 50
100 . / 200
(e) == 2

w”‘\.

Thﬁ. rd“te\crf su'nple interest per

anfutp“at which a sum of
\& 2
ﬂ}bney double itself in ]65

years is

WM &1 i &8 AMSE 7 &I g1

o e mgaﬁﬁ@aﬁsﬁ

S ?
(a) 4% (b) 5%
(c) 6% (d 6% %

A sum of 3000 yields an
interest of 1080 at 12% per
annum simple interest in how
many years?

3000 1 URT H 12% w1t % HER
=S 9 1080 =1 =AM fohad |l |
fHerm?
(a) 4 years/4 HIT
(b) 3 years/3 &IT
(c) 5 years/5 HIA
(d) 2¥/? years /212 |TT
YEAR: 2014

In simple interest rate per
annum a certain sum amounts
* 5,182 in 2 years and
© 5,832 The
principal in rupees is

i um T WeRo e & s
W 294§ 5,182 7 = & 3w 3
=d § 5,832 Wt Tl H qEeA

to

in 3 years.

|" 833
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FAE?

(a) * 2882 (b) ~ 5000

(c) * 3882 (d) * 4000

If a borrowec = P at x% and B

borrowed * Q (>P) at y% per

annum at simple interest at
the same time, then the
amount of their debts will be
equal after

R A 3 x% affF W P 3w B
4 y% affd | w * Q (>P) wF #
W (HEET = W3R faw q
for =d =g 39 B w1 Ui avEr w@
Eipoige

a) 100 ears e
(a) (Px_Qy) y /

(b) 100(%_Qy years/aH
Q-P

(c) 100(%_Qy vears/ds
P-Q

(@) 100( b0 years/ad
Px-Qy

If a sum of money becomes
* 4000 1n 2 years and * 5500
in 4 years 6 months at the
same rate of simple interest
per annum. Then the rate of
simple interest is

Afs FE UM TYRY =S H#@ OUF &
(=fir) W 2 =6 | 4000 R4
a4 6WE H ssooﬁm%a‘vﬁ??x
Tl & H1 T A H 2

. "'A\
o{g b
A
i
)

(a) 213% -\.{i':lg\%
¥ ¥ o S
1 \J\ 5

[C] 217%‘%:}\3 t"}[d 21? Yo

26100 is divided between
Ram and Shyam so that the
interest that Ram receives in
3 years 1s the same as that
Shyam receives in 6 years. If
the interest rate of 4% per
annum then Ram's share is:

*26100 # UMW W 3R W@E & ==
=0 a%e faufm =1 - 21 % T = de
L R i i e i e el T

834 |
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107.

108.

%

v

110.

(4812400

&"Fhe simple interest on a sum

¥y i 3 Wl S =S 4%
foera & 7 I F feE (YER) waEy?
(@)’ 8,500  (b) 17,400
(c)' 8,700  (d)' 19,000
A sum of * 4000 is lent out in

two parts, one at 8% simple
interest and the other at 10%
simple interest. If the annual

interest is * 352. The sum lent
at 8% 1s
* 4000 #t ufer @ fewdi § e WA
Al 21 TFH AT 8% HHWI AT 9 3R
TE 9 10% WHEY we 7w A
aiffe =19 - 352 & d aagu e
TS 8 WHNOT =1 W el of TE?
(a) * 2900 (b) * 2200
(c) * 2400 (d) * 3100

YEAR : 2015

A person lent certain sum

interest and in 15 years"“t&*ﬁﬁ?
interest amounted to Rs. 25
less than the sumxlent..\_;ﬁlhat
was the sum lent ': ~351?}
foret o Fet e T 1 5% H
A 2§ RO TSR A E
A 15 Tl o = &
FUR & 11'{\?@1"-‘& 250 & F9 &l 3HR
& vl (7. ) e o4
("1000 (b) 1500

(d) 3000

of money for 10 year is Rs.
3130. If the principal becomes
5 times after 5 years , then
what will be the total interest (mn
Rs) obtained after 10 years ?
TF T T O10 =Y w1 WEET =
3130 ®. 21 3% 5o a1 qeres 5
& S €, @ 10 98 # AR FHe e
=S (F H) e B

|a) 6260 (b) 7825

(c) 9390 (d) 15650

A sum of money
amounts to Rs 918 in 2 years
and Rs 969 in 3.5 years at
simple interest. What is the
rate of interest (in%)

% fify=a ofn aumm =19 =t R F
3 ot § 918 . @ 3.5 Adi § 969

certain

of /
morney at 5% per annuin simple’e:;

111.

112.

®. B St €1 = H S (% H) 7 E?
(a) 4 (b) 5
(c)6 (d)8
A sum of Rs. 400 becomes Rs.
448 at simple interest in 2
years. In how many years, will

the sum of Rs. 550 amount to
Rs. 682 at the same rate ?

400 ® i Tk Y S I o FrEEm
oIS WY 448 F. o S §1 g9H
= g fomad a6l § 550 %. Ff 7751 682

. o A
(a) 2 ﬁ-‘?
o ('
If a ce -aﬁﬁs‘u& of money be-

(c) 3.5
come ;l;\ wg“"f)f itself in 5 years
4 monthis at simple interest,

f:“tbew hat will be the yearly

3 . .
{3rate of interest (in %)?

3
J

113.

114.
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a5 ad 4 T A R S AR
g S S A
€, @ afiE = W (% H) 7 e
(a) 18.75 (b)27.5

(c) 37.5 (d)42.25

A person invested a total sum
of Rs 7900 in three different
schemes of simple interest at
3% ,5% and 8% per annum. At
the end of one year he got same
interest in all three scheimes.
What is the money (in Rs) in-
vested at 3%?

TF AR 7900 & FI FHe TR F TEROT
== #H aftw W 3%,5% q0 8%
et dF A § FEY e g U
o9 ¥ ofq § ¥ I dermed | wEm
= W g 3% H T W IHF W
fraw =1 ™ ufer (¥ #) ol 22

(a) 2900 (b) 3500
(c) 4000 (d) 5600
YEAR: 2016

If a certain sum of money
doubles itself in 7 years 8
months at simple interest,
then what will be the yearly
rate of interest (in %)

Afg 7 =d 8 WEF W HIEEOT =S R 5L
4w Fifyam of @ 9 0 e Seed,
qt =iftfF = 52 (% H) @ 'm?
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115.

116.

117.

118.
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3 1
(2) 185 (b) 132

() 26% d) 30

Simple Interest received by a
person in 10 years on a principal.
of the Rs. 9500 1s 130% of the
principal. What is the rate of
interest (in %) per annum?

uF = 3 10 g6 § 9500 ® &
HaHA &1 130% HIHRoT srs 91 fman
21 =me # oaffE = (% §) #E 2
(a) 12 (b)13

(c) 15 (d) 19

A person lent certain sum of
money at 10% per annum
simple interest. In 20 years the
interest amounted to Rs. 500
more than the sum lent. What
was the sum lent (in Rs.)?

wF =Afw T = ufsr = 10% =1
1fifsh <7 @ WE S W SHR 24l 2
20 61 § Haifsa =ame &1 afy, Sy S
¢ U W 500%. wfE @ S 21 3ER
gt wE uf(E H) F o

(a) 200 (b) 500

(c) 1000 (d) 250

Rohan borrowed a certain sum
of money at simple interest.
Rate of interest was 3% per an-
num for first 3 years, 4% per an-
num for next 5 years and 6% per

annum for next 7 years. If he paid
Rs. 2039 as interest, then what

119.

120.

121.

frerer foren 2 &) @il &% 9660 ® HY
afer g w1 x (B H) H AE P E?
(a) 9000 (b) 8000
(c) 8500 (d) 8200
An amount fetched a total simple
interest of Rs. 3200 at the rate of

6.25% per annum in 4 years.
What is the amount (in Rs)?

T U T 4 W F 6.25% wfa 99 #i
W H 3200 F F TF TERV AN T
fFam = ofer (= #) fRomt wom?

(a) 13800  (b) 11800

(c) 12800 (d) 14800

A sum fetched a total simple in-
terest of Rs 1200 at the rate of
7.5%/yr in 4 years. What is
the sum (in Rs)?

T U A 4 W H 7.5%e B oW H
1200 & =1 HWHERU A 99 fF740 98

124.

125,

A certain sum becomes 5 times
in 3 years. at simple interset,
then in how many years it will
become 13 times?

Afc WY =E 9 @E T A 3
auf @ 13 T B Swi?

(a) 6 (b) 15

(c)9 (d) 12

A certain sum becomes Rs 840

in 3 years and Rs 1200 in 7
years at simple interest. What
1s the value (in Rs) of principal?

ﬁ's‘%mﬁm%m{“ w3 oaEl o
840. & T 7 Lzoozaaaﬁﬁ%r
TAHA F nﬁ%&ﬁ) T &2

(2) 520, {‘ (b) 570

(c)ﬁz D (d)670

126.WHat is the simple interest (in

{2Rs) on a principal sum of Rs.

fr (& #) w2 :_
(a) 4000 (b) 6000 : A
(c) 8000 (d) 7500 O 2

Albert invested an amouﬁf%)f\
rupees in a fixed deﬁgmt
scheme offering 10 %A a]_g:,num
for 1st year and 1 z@&]g,et Aannum
for 2nd year and received an
amount of., ?U 240 after the
two years.“What is x (in Rs)?

qufﬁ‘m?ﬂ!ﬁmnxm
1 G0 &p 1 A B ferw 10 o ad B
v;rnbi’#miarﬁarmls%uﬁfaﬁﬁ

r‘\z’zwﬁﬁémﬁm 3 T T =9 20,240

i,

LA T e T F 1 ox (B H) T R

1s the sum borrowed (in Rs.)?

e & fafy=a afe =i e
SHR ol &1 S i < el 3 98
3% dftiE, e 5w A fe 4%
o den swiel 7 ol @ faw 6% @it

21 afE 78 2059 & @ B W qHE
2, @ 3UE u@f}(mﬂ ¥ 87
(a) 2400},}’ N f"fﬁsoo

(c) 2900 ¢~ {d) 3100

Ganesh invested an amount of
Rs ¥ in a fixed deposit scheme
offering 5% per annum for 1°
year and 15% per annum for 27¢
vear and received an amount
of Rs 9660 after two years. what
is the value of x (in Rs.).

oer  w A= S Ane ¥ x w9
Fi Ul % faw 5% o o #1 < 8 3w
T 9 & fau 15% ufg ad =t W H

0

%
7

122.

123.

(a) 15000  (b) 16000
(c) 14000  (d) 18000

A certain sum becomes Rs.
1020 in 5 years and Rs. 1200
in 8 years at simple interest.
What is the value of prinicpal?

FE AT WEE =E W5 At o

1020 &TF qer 8 N F 1200 EA &
S 81 e H A 7
(a) 820 (b) 780
(c) 700 (d) 720
What is the simple interest on
Rs 5400 in 5 years at the rate
of 12% per annum?

129 wfcrerd =1 <X & 5 9uf | 5400 ¥ F
YT =TS F ERI 2

(a) 2700 (b) 2950

(c) 3120 (d) 3240

127.

128.
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)
\’f§40 for 3 years at the rate of 8

% per annum?

1440% & Horgd 9T 3 o6l H 8% H!
T YR =0 (F H) F4 Bm?
(a) 345.6 (b)230.4

(c) 367.8 (d)312.2

A sum of Rs. 3100 is lent out at
simple interest. in two parts.
One at 8% per annum and an-
other at 6% per annum, If the
total annual interestis Rs. 212.
then what is the money (in Rs)
lent at rate of 8%

3100 & 1 UH T & 9 H
HYR =W W SYR € W 8 U
AT 8% Tl &L | T 3T 97 | 6%
w1 < ¥ T wman 71 9 @ aiftew
9 212 F. 87 8% I W WG T

T (H) w87
(a) 1000 (b) 1250
(c) 1300 (d) 1400

Daljit lent Rs.10800 to Jabir for
3 years and Rs.7500 to Kabir for
2 years on simple interest at
the same rate of interest and
received Rs.1422 in all from
both of them as interest. The
rate of interest per annum is:
<ersita A wifaT # 3 96 % few 10800
% 3uR fau &R #ef # 5 W W 2
st & fere 7500 % SR & o S @

|" 835
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S F T OH HA 1422% 9w RO
arffss =ams &1 [ et 872

(a)3.5% (b) 4%

(c) 3% (d) 4.5%

129. Deepinder lent Rs.8200 to
Jairaj for 16 years and Rs.4900
to Kama for 15 years on simple
interest at the same rate of
interest and received Rs.
19446.5 i1n all from both of
them as interest. The rate of
interest per annum is:
ffT 1 ST F 16 9 & fow 8200
® feu R wE # eH g w15 Al &
fen 4000 ® 34w fay & 2 | ==
% T4 H |/ 19446.5 & i forw) =nffw

=19 <1 feRat B?
(@) 10 % (b)10.5 %
(c)9.5 % (d)11 %

130. A sum fetched a total simple
interest of Rs. 9648 at the rate
of 12% per year in 6 years.
What is the sum?

6 =g H 12% Hf €7 4 WEH A U
9648 % @ WIERY &S 99 Wl ¢,
7T ufe fRedt 82

(a)Rs.16080 (b)Rs. 10720
(c)Rs. 8040 (d)Rs. 13400
Dev lent Rs. 8000 to Jairam for
17 years and Rs. 4700 to Karnik
for 16 years on simple interest

at the same rate of interest and

received Rs. 21120 in all from
both of them as interest. The

131.

rate of interest per annum is: -
%4 % PR ) 17 @ fere 8006 %)~
T e sk T T 0 3 TN

a5 % foru 4700 & SR R, S <A

§ = & &9 § g9 21420 ® 9w

firy) anfifw = g e

()10.5%  “(b)10%

©11% /. @11.5%

132. A sum fe};’a{e{ﬁ a total simple
mterest of Rs. 8100 at the rate
of 6% per annum i1n 9 years.
What 1s the sum?

9 1 ¥ 6% AfbF =S T H TH A
9 $100 ® H1 GHERY S &4 Sl
T2 ufn fredt 22

836 |
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(a)Rs.15000 (b) Rs.18000
(c) Rs.12000 (d) Rs.9000

133.Deepanshu lent Rs. 8400 to
Jaipal for 15 years and Rs. 5100
to Kareem for 14 years on
simple interest at the same
rate of interest and received
Rs. 17766 in all from both of
them as interest. The rate of
interest per annum is

<rafy] A sFwE 15 a6l @ ferm 8400
® IR G ot w0 =t 3@ 5w 14
a5 & faw 5100 & 39N fau &R 6 &
= % w9 H g 17766 ® 9rA Ry
it =aver ¢ feRat B0

(a) 9.5% (b) 10%

(c) 10.5 % (d) 9%

134.A sum fetched a total simple
interest of Rs. 7728 at the rate
of 7% per year in 8 years. What
is the sum?

afer el 87 o LS

(a) Rs. 13800 (b) 11;;{“1‘6559

(c) Rs. 11040 [dj\Rs“::ﬁgS;O
135.A sum fetc Kd':gf total simple

interest o_fj%&;_ﬁSQO at the rate

of 7% ptﬁ'/ ﬁm" in 5 years. What

is ?}é’@ﬁ‘rtf’

Sam. g 7% arfis w § wh e W

3320 & F TERY A q7 S ¢ TE

C o ot 87

(a)Rs .18240 (b) Rs. 12160

(c)Rs .15200 (d) Rs. 9120

136.A sum fetched a total simple in-
terest of Rs. 7056 at the rate of
8 percent per year in 7 year.
What is the sum?

7 96§ 8% =1ffF o 9 wk Ui W
7056 & F1 WHRY =19 a9 Sl 81 98
ufyr feradt 87

(a)Rs. 12600 (b) Rs. 15120
(c)Rs. 10080 (d) Rs. 7560

137.Damodar lent Rs. 10600 to
Jaafar for 4 years and Rs. 7300
to Kailas for 3 years on simple
interest at the same rate of

Copyright © All Rights Reserved | https://spardha.guru/

sﬁﬁv%mmﬁw‘*m:ﬁ
7728 % F1 WHRY A 9H s

interest and received Rs.
2250.5 in all from both of them
as interest, the rate of inter-
est per anuum 1is:

TEET 4 STE & 4 69 & T 10600
® 3YR 3 3N o™ & 36 QW W 3
Tl & o 7300 & TUR B S <4 9
=S F FT W oEHA 22505 v fEw
aiftfer =rst < foRat Bit?
(a4 % (b)4.5 %
()5 % (d)3.5 %

138. The difference between simple and
compound int a compounded
annually la weértain sum of
money f&f; 2"’2‘66113 at 4% per an-
nu&l{s»&RsﬁS The sum is ..... i
T FREE o w2 o f 4%

O T . "

ahj&%“u ¥ aiffs w1 ° "t &R

At wee o iR St s A
H| 8 T ' u__#

(a) Rs. 10000 (b)Rs. 20000
(c)Rs. 5000 (d)Rs. 15000

139.A certain bank offers 8% rate
of interest on the Ist year and
9% on the 2nd year in a cer-
tain fixed deposit scheme. If Rs
17,658 are received after in-
vesting for 2 years in this
scheme, then what was the
amount (in Rs) invested?

Fr dx frdt wafu s 9 W e
o H 8% HI T H a9 g 94 H 9% HT
QY = T B AfE T A § 2 an
= fore fEw & 17,658 w9 fAer
& 41 faw =1 R T (EE ) e oft?
(a) 16000 (b) 15000

(c) 15500 (d) 16500
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(b)
(a)
(d)
(c)
()
(c)
(b)
(©)
9. (a)
10. (o)
11. (a)
12. (d)
13. (a)
14. (o)

D ki e

15.
16.
17.
18.
19.
20.
21,
22.
23.
24,
25.
26.
2L,
28.

info@spardha.guru

e)
(d)
(e
(d)
(d)
(d)
(e
)
©
()
(d)
)
(d)
)

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.

()
(d)
(8)
(@)

(e)
)
(e)
()
(e)
(o)
(d)
(2)
()

43.
44.
45.
46.
47
48.
49.
50.
51.
52.
53.
54.
595.
56.

{b)
()
(@)
(d)
(@)
(]
(b)
(d)
(@)
{b)
]
{b)
(]
()

57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.

(b)
(b)
(d)
(=)
(c)
(d)
(b)
(b)
(c)
(c)
(b)
(a)
(d)
(d)

71,
2.
73.
74.
75.
76.
T77.
78.
9.
80.
81.
82.
83.
84.

(c)
c)
(&)
(=)
d)
(b)
(d)
d)
(d)
(c)
(c)
(c)
d)
(b)

85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
g9r.
98.

(&
(a)
()
(b)
(a)
(@
(a)
(d)
(e)
(b)
C
(c)
()
Gl
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99. (b) 113.(c) 127.(c)
100.(b) 114.(h) 128.(c)
101.(c) 115.(h) 129. (c)
102.(b) 116. (b} 130.(d)
103.(c) 117.(c) 131.(b)
104.(a) 118.(b) 132. (a)
105.(a) 119.(c) 133.(d)
106.(b) 120. (a) 134.(a)
107.(c) 121.(b) 135. (c)
108.(a) 122.(d) 136. (a)
109.(c) 123.(d) 137.(d)
110.(a) 124.(c 3 138.(c)
111.(d) 125, 139.(b)
112.(c) gé}
O\
| 837
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